THE CITY OF NAPOLEON
BUILDING & ZONING DEPARTHENT

255 W. RIVERVIEW
(419) 592-4010

Building Permit
Permit Number: BP2008-41

Page 1 of 1
Printed: 5/12/2008

ADDRESS: 389 Independence Ct.

Applicant Approval Date: 5/8/2008
Name: Gerdeman, Mike 419-758-3363

Address: 15707 CoRd N

Owners

Name: Mr. Ron Glanz
Address: 389 Independence Ct
Napoleon, OH 43545
Contractors

Phone: 419-599-6470

Contractor Type: Masonary/Concrete
Name: Gerdeman, Mike Napoleon, OH 43545
Address: 15707 CoRd N

Phone: 419-758-3363

Fees and Receipts:

Number Description Amount
FEE2008-250 Building Permit Fee (Auto) $10.00
FEE2008-251 State 1% fee (Calc) $0.10
Total Fees: $10.10
RCPT2008-172 $10.10
Total Receipts: $10.10

concrete work for patio

APPLICANTS SIGNATURE: DATE:

[M REMINDER: YOU MUST CALL (419)592-4010 FOR AN INSP




“OPO8-< 8 102

470

) A\ —

OWNER ADDRESS: SOWE CITY: Napj/QL ZIP: (R5¢
CONTRACTOR: E\jﬂ Wi, Dodduman
PHONE #:__( /| G- 7258-33(,3 CELLPHONER __ (|| - G/ 4/, - Y209

L
OWNER: < Y (:3,1(“{': Vi PHONE:_(| O- ©G-

CONTRACTOR LICENSED WITH THE CITY OF NAPOLEON?: YES NO:[]
Is any of the above Jjob going to be subcontracted oun¢? Yes[ ] No:
If yes to whom:

DESCRIPTION OF work 10 g )
PERFORMED: (O X (25} Do, /frcz/ /4
ESTIMATED COMPLETION DATE. :

PLEASE MARK THE TYPE OF WORK YOU WILL BE PERFORMING

LJa/cADDON 14 CJREMODELING 19
[OBOILER REPLACEMENT 1% [JROOFING 19
[JcurBing [JSEWER REPAIRS**
[JDECKS * 19 [JSIDEwALKk*
[IDRIVEWAY* [ISIDING 19
[JELECTRICAL SERVICE UPGRADE 19 [JSHED* (under 200 sq ft)
[JELECTRICAL SERVICE NEW 19 (] SHED* (over 200 sqft) 1%
CswiMMing POOL*1% CFENCE*

[CJFURNACE REPLACEMENT 19 LITEMP ELECTRIC 79
[LJADDITIONS* 79 [JFURNACE NEW 79
[JWATER TAP (size____7) (OwiNDows /DOORS 19

(JLawn METER 1%
OPLUMBING 1%






THE CITY OF NAPOLEON
BUILDING & ZONING DEPARTMENT
255 W. RIVERVIEW

(419)592-4010

Inspections

Address: 389 Independence Ct.
Napoleon, OH 43545
Applicant: Gerdeman, Mike

Page 1 of 1
Printed: 6/23/2008

Permit Number: BP2008-41

Inspector: Tom
Status: Approved
Passed? ]

Inspection Date: 5/22/2008
Inspection Number: INSP2008-103
Inspection Type: Footer
Required Steps:

Comments:

Inspection Date: 6/23/2008
Inspection Number: INSP2008-139
Inspection Type: Building Final

Required Steps:
Comments: oked floor siab

Inspector: Tom
Status: Complete
Passed? V]

Other Fields:



THE CITY OF NAPOLEON

BUILDING & ZONING DEPARTMENT
255 W. RIVERVIEW
(419)592-4010

R

Inspections

Address: 389 Independence Ct.
Napoleon, OH 43545
Applicant: Patio Enclosures Inc

Page 1 of 1
Printed: 6/23/2008

Permit Number: BP2008-42

Inspection Date: 6/23/2008 Inspector: Tom
Inspection Number: INSP2008-140 Status: Complete
Inspection Type: Building Final Passed? V]

Required Steps:
Comments:

Other Fields:



Z 3
PPos -4z T 9372

Date S (;.a O 8 Job Location v ! 1/
OwanR s L{/Mf}bﬂ “@nv—- Phoneﬂj?« S"?‘P-{p‘-{ 7()

Ovner Ad&esmﬁ_adgamﬁ oA 0, 2o 35S
Contractor_| a A 49('1 00 4 4 14 Phone QI P-4y -D¥YC
Description of work to be preformed\J"ﬁw &M’h &Muz,{‘z,m O

N LANS (ﬁw/f,e Qﬁ Mu%ﬁgdxﬁh “ D Za "cé?.ozﬁ /xéz’zﬂ%‘?

Estimated cost of work to be preformed %Q 7 C)Z) o~
Please indicate the.type of work you will be performing by )

___A/C Add On ——_Remodeling
—_Boiler Replacement Roofing
—_Curbing Sewer Repairs
__ Decks . 7 Sidewalk
—_ Driveway —__Siding
_Electl;ical Service Upgrade Sign
___Flectrical Service New Storage Shed
—_Fence ' Street Bond

Foundation N
.

Swimming P ool
___ Furnace R;;placement :

Temp Electric
—__Furnace New —__Water Tap
—__Lawn Meter —__Windows
— Plumbing Zoning

—Othe% .

Permit Number r‘_\JDj Al M "




g 6" (SHED4no GABLE T BLL VIEW

Sty /DX 1D Bt S0l Sumntoens . Fog fralie, 30" dopeceer)
NG| Bl (B G HIET. B O

i/ J NuPl _ 1Y i 1

> o e 0% . o

T T e | JT & e

OFP.

) - ¥ Ll v@ﬂ.\q@& |
| g petemedcy

@

®

Single Slope Roof Enclosure Plan View

Gable Roof Enclesure Plan View
Note: Whare @ shown, Note: Whara @ shown, Note: Where @ shown, Note: Whara @ shown,

Required w/ Tronsom . A Required w/ Trons Required w/ Transem Requirad w/ Tronmom
Aa6< 9
A@l_ - 18 17

N gN @l—
™ J : ] N
tivg 15 P A SA .B
s D . = = |
| ] 1 10 2 7y 1 4 FETR AT 2 £
SF (S .| 1B 15 “ @ @ @ @ “ @ @ @
_ 1 | 1
— o] - Ju— R
"B” Wall Elevation @ "A” & "C” Wall Elevation @ "B” Wall Elevatlon @ "A" & "C" Wall Elevation @

GENERAL STRUCTURAL DETAILS FOR PE! "ALL~VIEW” THREE SEASON ROOWS
NOTE: Detalls on this shest are cisc In section 500 of the "Ali~Viaw Rooms Enginesring Manual”

: patio
A 720 EAST HIGHLAND ROAD
ENCLOSURES - P.0. BOX §BE « MACEDONIA, GHIO 44056
Typloal . : : Dﬂ (320) 468~0700 r

FAX (330) 4674287

SCALE: NONE _ DRAWN: MAD DATE: 11/12/83
REVISIONS

AFPROVED BY:

AN

\. Concrets or Wood Floor
e ——rrw

A SIGNATURE FE REG WG,
Fooling Per Locsl Cods 'y E. RE Q DATE

by
ol

Fosting Fer Local Code

{

Section /a = : [ Section @

.

ALL—VIEW ROOMS
PEl ENGINEERING — SECTION 17 SHEET: 1




x._\u ._.manlcuo end 1 Up & Down from Hondie

Tkl ‘Both Sldes

m:h.ﬂ-:du .L‘!.E_.“n m:ﬁm:n Wall
\‘u x 1/2" TEX Screes @ Top
and Bottom Enck Sids,

e ¥e, @

Expandar 8 Floor _‘
%<n1-n e ﬁ..mm..m“m a_ ]
5 #2 x 1/2° TEX Sarwen © Bot. 4 11 VR ke 112 .
#8 x 1/7" TEX Scarwen @ T8~ -1
Cemer Fosi ] - T 1
— | ri
#6 x 1/2" TEX Scrawn @ Top, " 712) Anchora (Typiea) 1 } \ Y .

1/3 Up & 1/3 Down Battern! Both Sides

\.no:n_-? or Woed Floor

T = VA PV A

/
1;.)/-
™ ku._mr_n- Beam __ﬂ .././.!.
87
& - -
1./.!1(-
,./..flv
f)./.!.r

\ Concrefe or Wood Fleor Detail
r.{ o .“lﬂ g e LI I v ..u..”.H_ m mmw
- r.ilno&_:n Per Local Cods ® mnn::n Par Local Coeds __.a. :

,...__ .I_

o Section m m w wmn:o:

Port = dxt, 4t B, or (2) 2xb's (K
m:““..ﬂr‘luaﬂai :Woﬂi_anlna Notohsd Ae Reculred To Fit in Expand
il m-ﬁu:ul..m_oo..
(@)- 1" x 4" x /8" x 1 3/4" L5,
.ﬂvun.wnf:mwun..nﬂa. {1) Eoch Side \
=)
"

103 Tuba o [ _.Mauﬁ S Serwm,

4) $& x 1" TEK Screws, - BExpander @ Floor-, ) #5 x 17 TEX Scrawa,
{2} oo Sida 1 Sww.“au}a i vqmn...._w oo o | (- 1" x PASEAEIEH o u..mn“,swu.qso_
/ 25 Eeon e {1) Ench sids \ . ) \ f (2) Eoch Side

cor @ Py (2) Each Sl
< 1 .
— l - A
+ 1 ._ww. 5:..1_! .IHIMMW. Min, X b k LI .,._r b hu X
___ - 1 I -—l— - _|
— 7 = Netch Ganging As Raquirsd J /
Py Ganging Beoesan Untx (20~ #5 3 1" TEX Scrvws © _ . Hotch Ganging Aa Required | . (6 48 x 1/Z° TK Scrawe,
oﬁ?ﬁuar\ura .l e AR __3 mﬁunv-m._.n:._.w_nn-mni S hetail Wuu__m_,anx ‘o Ant Cop \SI muﬂw W‘H_ Mm.._n-mnilr To ....”_nruu T un.._.qﬂmn?Mﬂ“”! 5 e
Detall m mw Detail Detail /%
Anchors A Gunging :ui.\n o Ls. Log Serees o Wood .IIE.P\ i Bnchora & Ganging
Una 375" 3 1/2° 5 Log Scrme nto Wood | Use
ﬁ Use 174" 8 174" Lg. Drive—Fin Anchora imtc Concrate - “.- .__\...rr“.o.is!u.ﬂ!n?:nui | clm»“xn__«mﬂwfuﬁl?ﬁawﬂg

GENERAL STRUCTURAL DETAILS FOR PE! "ALL-VIEW” THREE SEASON ROOMS

NOTE: Dsiclls on this shest ars alzo In sectlon 500 of the "All-Yiew Roams Engineering Manual®

a vﬂe ; 720 EAST HIGHLAND ROAD
ENCLOSURES WG P.0. BOX 185 « MACEDONIA, OHID 44056

=i © (330) 4680700 FAX (330) 4674287

{8) Par 38° Length; (3 !uvn_”ﬂu..
2 into i~Beam Cornecting
- ' SCALE: NONE \_ 1 .
—_ St NOTE: N DRAWN:  MAD DATE: 11/12/93
The plons, elevations, sections and details contail herein are REVISIONS

in gccordance with information contained in “Pr % Engineering
Manual on ‘All-View' Three Segson Rooms" as pshed by Patio
Enclosures, Inc., Macedonia, Ohio. Uimitations fo.oduct usage

are contained in said "Product Engineering Mom See individual
job submittal for specific projections, unit width1d wall heights.

APPROVED BY:

w SIGRATURE .E. REG. NO.
mﬂ:g w«a ’ P.E. REG. ND. DATE
Anchors: Use 3/E° ¥ x 3 172" Lg. Log uﬂ.. o Suse ALL-VIEW ROOMS
Use 1/4" 8 x 1 1/2° Lg, Logr w/ Lo
e mcreis, Bk o Bick PE] ENGINEERING ~ SECTION 17 SHEET: 2




a1 TEK Scrawa (3) Per 35° Langth
wQ _3b\n1n=o_. 2 iria i~Beom Cormecting Ponsl, T&E)

Scrvwe, 2 @ Honger,
oo Fout Panaly ; Heoder Locotion, and
1/3 Pts. Bstween Hanger &
, 024" 310S-H174 Aum., Taa
FETEIROREY. 91 || T X TRTMR
5 x 1/2" TEK Screws M. Ence,” Structural Sfiecns Ssalant Structord! Silcopa Sealrt 7/i8" 0.88., T&B {Optional)
B Unk Ganginge
1x3 Expander
Panel Cop. . . aring Cap . - .. 1A PCF EPS
Seciont] ; o 2" TEX Scrvws © 167 O Clezing Topa N —Bear
bt Wing Fapel 1/2= 5 1" x 1/16" Contiu 1/8° D.S.
Auminumn Angle oe Cods Raq: i-

Detail 7

1/€" DS, Ckres, or

1/2° -»w.- 1/18" Contiruous os Code Requirm
Giazing Tope
#& x 1/2° TEX Scrvn B 467 OC Hn.u:nonu

——

-y

...&un 1" TEX Screws
_,Im.usa Door Unit Framing ® 1z oo

Ro¥ing Deoe Untt Framing

Ru... iiw!s.a min. 1 1/2° Embedment
Struhursl Framing Or Wood Blockdng Inetalied
And Bogured Te Structural Framing

Ear_Cascesin st
1/4°0 Lage With Shisida Providing min. 1 1/2° Embedmant

Detail

GENERAL STRUCTURAL DETAILS FOR PE! "ALL-VIEW” THREE SEASON ROOMS

NOTE: Deialis on this shest are olso in section 500 of the “All~View Roome Englnesring Mecnual®

Structwre] Sicone: w.n_na —mzﬂ.ougﬁm . PO wom\nwwm zﬂ.mm_urbuu 56
0. . A, OHIO 440
3 Lay 33 - .
i /B x w Kn.o n.n e (330) 4 B&E—-0700 FAX (30)487-4287
Stogpared . Oppostis Sides

NOTE:

The plons, elevations, sections and details contained hersin are
"| in accordance with information contained in "Product Engineering
Manual on 'All-View' Thres Season Rooms” aa published by Patio
Enclosures, _=n_ ;unono:_o. Ohic. Limitations for v_.oacnﬁ _uaage
are contained in sgid "Product m:m_snu_‘_zo Manua{”, See individual
job submittal for specific projections, unit widths and wall heights.

SCALE: NONE' _ DRAWN: MAD _‘ DATE: 11/12/83
REVISIONS

APPRQVED BY:

- SIGNATURE P.E. REG. NO. DATE

ALL—VIEW ROOMS
PEl ENGINEERING — SECTION 17 SHEET: 2




i 5 x 1/2° JEX Sorswr
! #e T

Detalt muw

»».wu 4" Loge Wth Shislds into Salid Masonry
Provide min. 1 1/2" Embadment

min. {2}~ 1/4°¢ Loga Providng min. 1 1/2°
Embedment inta Structural Froming Or Blocking
Anchers A H Helght 48 x 1/2" TEX Screws, Esch Side
\\. Thru Well Ewpander Inta *K"~Channel

=3

Anchors & 18° 0.C.

o

Woll Expender~| ©

J:m..- M “H"—Channs!

ot w;vai

~

#8 x 1/2" TEX Borew, Eoch Side
Thiu Corner Post intn "H'—Chennal

Cut Comer Post A Roc! Plich Angla

Corner Poat

Detall /38

(2) — #8 x 1° TEXK Scrwws @ "H™ Halght
Ridge Beom Post

N/F Side wn__.ll_

_——
L

'_Detall mumw

Mouter Namber,
Seresn Unit .—%"m_an gﬂﬂ-ﬁ-m.gl '
(Net Shawn) Bioss Top Rail Mermber,
Refting Door Unlt
Glosa Width Mesmnbar,
Flisd Gloms Unk -
(Nat Shawn)

Transom Whhout 1x3 Tube

Glase Width Member, Transom Unk

#10 x 2" TEX Sowws @ 18 0L

Gigme Width Msmbar, Transom Umt
#10 % 2° TEX Serews @ 15" O.C.

1x3 Tube

Tt TR

Transom With 1x3 Tube

#8 x 1/2" TEK Screws © Top & Belom
(2} Each Sde

#8 x 1/2° TEX Screwe TkE, Eoch Side

Glass Kneewall Ganging, G—Cdps

EXTERIOR

#8 x 1/2" TEK Screwm ®
TAS Egeh Sids
\ \gnﬂnnu-«

—

7 (2) Epondera

r I

A5, T ]

\ Side e For Gioss Kneevak

(@~ ﬁn nlumn._.nwl_auw.ﬂ! ThD

Structera SiBoons w.nin/\

INTERIOR

Secl Betwaent Members

B x 17 TEX Scrswa—

@ T \
Sea! Beiwesn Member \
Top Master Frome 1 Special Tempersd Glasx
Rolling Deor Unit Froming —|

Glass Kneewall (or Sliding Unit)
Below Sliding Unit

SIit For Roliing Door Unk Above

. 13 Expander
_m-am.m. Mmmaomsn«ﬂ- - . -
gl ca = STTIS Lo

L3 Aﬁcﬂ:ﬂ.?g
153 Tube

NOTE:

The plons, elevations, sections and detoils contained hersin are
in accordonce with information contained in "Prodict Engineesring
Manua! on 'All~View' Three Season Roems™ as published by Patio
Enclosures,” inc., Mdcedonia, Ohio. Limitationa for product usaogs
ore contained in seid "Product Engineering Monuol’. See individual
job submittal for specific projections, unit widths and wall heights

Glass Kneewall Ganging, Expanders

GENERAL STRUCTURAL DETAILS FOR PEl "ALL—VIEW" THREE SEASON ROOMS

NOTE: Detalls on this shest are alss In section 500 of the “"All~View Rooma Enginesring Manual™

M%ﬂmnﬁ_.

720 EAST HIGHLAND ROAD
P.O. BOX 186 « WACEDONW, DHIO 44058

(250} 4680700 FAX {330) 467—4287
SCALE: NONE DRAWN: MAD DATE: 11/12/83
REVISIONS
| ArPROVED BY:
SIGNATURE P.E. REG. NO. DATE
ALL-VIEW ROOMS
PE! ENGINEERING — SECTION 17

— SHEET: &




SEnsEmImEmTs=TT

MANUFACTURERS OF PATIO & PORCH ENCLOSURES
SOLARIUMS & GREENHOUSES

o s a

PATIO ENCLOSURES, INC.

ROQF SYSTEM PERFORMANCE DATA

Ground Snow Load: 20 PSF

Code Group: BOCA

(FS. = 2.5)

Roof System: 3" "Super-Foam"

Roof Panels: 024" 3105-14174 Al. Skin T & B: 1.5 PCF EPS Foam Core

Roof I-Beams: Therm Brk., .078" Flanges, .062" Web. (PEl Dwg. #1-0217)

Roof Type: Single Slope

NO GLASS ROOF PANELS OR SKYLIGHTS

Clear Span, Ft. 8 9 10 11 12 13 14 15 16 17 18 19 20
Ult. Load, ’'SF 192.75 | 152.3 12336 | 1020 85.7 73.0 62.9 54.8 482 427 381 342 30.8
Allow. Load, I'SF 771 60.9 493 408 343 292 252 21.9 193 17.1 15.2 13,7 12.3
1.5t SL, PSF 20.0 20.0 200.| 200 200 20.0 200 20.0 200 20.0 2001 200 20.0
1-5t. 5L + DL, PSF 214 214 214 214 214 214 214 214 214 214 214 214 214
1-5t.5L+DL Defl, in. 0.180 | 0.265 0379 | 0529 | G719 | 0959 | 1.254 1.618 2.057 2581 3.204 | 3.933 | 4.781 |
2-5t. SL, PSE 307 283 263 24.5 23.0 218 20.7 20.0 200 200 20.0 20.0 20.0
2-St. SL + DL, PSF 321 29.7 27.7 259 244 23.2 221 214 214 214 214 | 214 | 214
2-SLSL+DL Defl. in. 0270 | 0368 0490 | 0.640 | 0820 | 1.039 | 1295 1.618 2057 2581 3204 | 3.933 | 4781
For PEI Use Only 0.0084 | 00124 | 00177 | 00247 | 0.0336 | 0.0448 | 0.0586 | 0.0756 | 0.0961 | 0.1206 | 0.1497 | 0.1838 | 0.2234

PEI Engineering
* Confidential *

Section 21

1195



Product Engineering Manual

Structural Component

Descriptions

PATIO ENCLOSURES, INC.

MANUFACTURERS OF PATIO & PORCH ENCLOSURES

SOLARIUMS * GREENHOUSES

et et st g B et g gy St

STRUCTURAL COMPONENT DESCRIITIONS

SINGLE-SLOPE ROOF ROOMS - FRAMING MEMBERS

MEMBER

FUNCTION

APPLICATION
(See. Sect, 500)

Corner Column

Support of header, and framing of sliding
door units

Detail 40-1

H@ A & C-Wall

Framing across top of sliding door units
non-bearing wall (Encl.)

Detail 40-9

Tube

non-bearing walls, w/o transom

Header System @ B-Wall Support of roof system @ bearing wall Detail 40-6
(Encl.)

Hanger System @ Existing House Support of roof system @ existing house Detail 40-5

Ganging, Between Units @ B-Wall, w/o Tube | Support of header, and framing of sliding | Detail 40-2
door units, w/o transom

Ganging Between Units @ B-Wall, w/Tube Support of header, and framing of sliding | Detail 40-3
door units, w/transom

Ganging Between Units @ A & C-Wall, w/ 0 Framing of sliding door units @ enclosure | Delail 40-2

Ganging Between Unils @ A & C-Wall,
w/Tube

Framing of sliding door units @ enclosure
non-bearing walls, w/transom

Detail 40-3

Transom

Horizontal framing between sliding door
unit (below) and fixed glass unit (above)

Not Shown

NOTE: See Section 2100 for materials and cross-sections of above members

SECT300.ALL

T S T T e I T e e e e et e e e e e e o o e et g e e et et e e e e

720 EAST HIGHLAND ROAD, MACEDONIA OI 11O 44056 * (216) 468-0700




"ALL-VIEW" THREE-SEASON ROOMS

FASTENERS COMPOSITE INTO.

ULTIMATE | ULTIMATE
FASTENER EMBEDMENT SHEAR PULLOUT
DESCRIPTION MATERIAL . 'LOAD LOAD
e e P SR A ==
Tab-to-Hanger Assembly : A e 187 1bs./in.
1/4" dia. x 1-1/2" Lg. Lag Typ. 2 x 6 Wood | to ~ 990 Ibs. 1283 Ibs.
Screw grain ,
1/4" dia. x 3" Lg. Lag Typ. 2 x 6 Wood, 1980 lbs. 2565 1bs.
Screw perpendicular to grain
1/4" dia. x 1-1/2" Lag Screw Concrete Block or Brick 1860 1bs. 1620 lbs.
w/5/16" O.D. x 1-1/2" Lg. w :
Lag Shield e
1/4" dia. x 1" Lg. Nylon Concrete Block or Brick 884 1bs. e
Anchors : ]
1/4" dia. x 1-1/4" Lg. Rawl 3000 psi concrete 1500 1bs. 960 1bs.
Zamac Nailin )
#10 x 2" Wood Screws Typ. 4 x 4, paraliel 2 . 940 lbs. 630 1bs.
to grain i
#10 x 3/4" Wood Screws Typ. 2 x 4 Wood, ' 470 lbs. 315 lbs,
! perpendicular to grain © |,
#8 x 1" Screw Typ. 2 x 4 Wood, oM e 348 0bs, L | e
perpendicular to grain
Corner Column-to-Horiz. 6851Ibs. | @ e
Exp. or Header ((2) - #8
x 1/4" TEK)
Ganging of Units-to- 1315 1bs. | = emeee-
Horiz. Exp. or Header
((2) - #8 x 1/2" TEK)
Roof System-to-Header @ | = ———emmimeemeee | 685 1bs.
I-Beam Locations '
Roof System-to-Panel Cap @ Panel Cap RN 378 1bs.
Room Corner, 1/4" x 4" Lag :
Panel Cap-to-Corner Post. Corner Post A3251bs,. | e
#8 x 1/2" TEK
10 D Nail (#10 x 3") Typ. 2x or 4x Wood, 282 Ibs. 342 1bs.
perpendicular to grain
10 D Nail (#10 x 3") Typ. 2x or 4x Wood, 211 lbs. 257 lbs.
_ parallel to grain ‘
PEI Engineering Section 29

* Confidential *

Revised 1

194




Section 300 Subject: _All-View Room

Product Engineering Manual
Structural Component
Descriptions

PATIO ENCLOSURES, INC.

MANUFACTURERS OF PATIO & PORCH ENCLOSURES
SOLARIUMS * GREENHOUSES

o v ey T A e s g e o s e

STRUCTURAL COMPONENT DESCRIPTIONS
SINGLE-SLOPE ROOF ROOMS - FASTENERS

AYPLICATION
MEMBER CONNECTED TO USING | FUNCTION (See Sect. 500)
Hanger Assembly Ex. Wall (Wood) (1) Support roof system @ Detail 40-5
existing house
Hanger Assembly Ex. Wall (Concrete (@)~ Support roof system @ Detail 40-5
Block or Brick) existing house
Vert. Expander Ex, Wall (Wood) ). Connect sliding door unit to Detail 40-10
existing house
Vert. Expander Ex. Wall (Concrete 3 Connect sliding door unit to | Detail 40-10
Block or Brick) existing house
Horiz. Expander Ex. Floor (Concrete) @) Connect sliding door unit to Detail 40-1
Between Vertical existing floor
Structural Members
Horiz. Expander Ex. Floor (Concrete) @ 4) Anchor framing system Detail 40-1
Corner Column against uplift & horiz. wind
load
Horiz. Expander Ex. Floor (Concrete) @ 4) Anchor framing system Detail 40-2
A & C-Wall Ganging against horiz. wind load
Between Units
Horiz. Expander Ex. Floor (Concrete) @ (4) Anchor framing system Detail 40-2
B-Wall Ganging against uplift & horiz. wind
Between Units load
Corner Column Horiz. Expander 5) Framing system * Detail 40-1
interconnection against uplift
& horiz. wind load
Corner Column Header 5 Framing system Not Shown
interconnection against uplift
& horiz. wind load

1) 1/4" dia. x 3" Lg. Lag Screws
2) 1/4" dia. x 1-1/2" Lg. Lag Screws, with 5/16" dia. x 1-1/2" Lg. Lag Shields
(US.E. Sup-R-Lag #3305 or equiv.)
3) 1/4" dia. x 1" Lg. Nylon Anchors (US.E. "Tap-It" #5630 or equiv.)

4) 1/4" dia. x 1-1/4" Lg. Drive Pin Anchors (Rawl Zamac Nailins or equiv.)
5) #8 x 1/2" Lg. Sheet Metal Screws

SECTICD.ALL

720 EAST HIGHLAND ROAD, MACEDONIA, OHIO 44056 * (216) 468-0700



Section 300 Subject: _All-View Room ‘ ’
Product Engineering Manual
. Structural Component

Descriptions

PATIO ENCLOSURES, INC.
MANUFACTURERS OF PATIO & PORCH ENCLOSURES

o s i it ot P47 STy ey et P DU ol St SEVR P Tt =t

TRUCTURAL COMPONENT DESCRIPTIONS

SINGLE-SLOPE ROOF ROOMS - FRAMING MEMBERS

APPLICATION
MEMBER CONNECTED TO USING | FUNCTION (See Sect. 500)
B-Wall Ganging Horizontal Expander 5) Framing system Detail 40-2
Between Units interconnection against uplift
& horiz. wind load
B-Wall Ganging Header %) Framing system Not Shown
Between Units . interconnection against uplift
& horiz. wind load
Roof System Header @ I-Beam ) Framing system Detail 40-6
Locations interconnection against uplift
Roof System Panel Cap @ Room 6) Framing system Detail 40-16
Corner interconnection against uplift
Panel Cap Cormner Post 5 Framing system Detail 40-16
interconnection against uplift
H Existing House (5) Anchor enclosure wall against | Not Shown
(Wood) wind load
H Existing House )] Anchor enclosure wall against | Not Shown
(Concrete Block or . wind load
Brick)
H Corner Column 6)] Anchor enclosure wall against | Not Shown
wind load

1) 1/4" dia. x 3" Lg. Lag Screws :

2) 1/4" dia. x 1-1/2" Lg. Lag Screws, with 5/16" dia. x 1-1/2" Lg. Lag Shields
(US.E. Sup-R-Lag #3305 or equiv.)

3) 1/4" dia. x 1" Lg. Nylon Anchors (U.S.E. "Tap-It" #5630 or equiv.)

4) 1/4" dia. x 1-1/4" Lg. Drive Pin Anchors (Rawl Zamac.Nailins or equiv.)

5) #8x 1/2" Lg. Sheet Metal Screws '

6) 1/4" dia. x 4" Lg. Lag Screws

SECTI00.ALL




